
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

4.268 × ________ = 4268 6.318 × ________ = 631.8

5.492 × ________ = 54.92 1.024 × ________ = 10.24

9.073 × ________ = 9073 10.449 × ________ = 104.49

9.337 × ________ = 9337 2.684 × ________ = 268.4

6.336 × ________ = 633.6 7.274 × ________ = 727.4

7.559 × ________ = 7559 5.352 × ________ = 535.2

1.188 × ________ = 11.88 4.431 × ________ = 443.1

3.364 × ________ = 33.64 9.436 × ________ = 94.36

3.439 × ________ = 34.39 6.016 × ________ = 60.16

1.332 × ________ = 133.2 3.226 × ________ = 32.26
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